Grade 5 / Scoring Key Clay Pottery

c SMARTER BALANCED PERFORMANCE TASK

Item 2
Claim 2
5.NF.A.2
4.NF.A.2
SAMPLE  SCORE RATIONALE
A 0 Incorrect response. The response does not reflect an accurate calculation of the difference between the
pounds of clay needed to make the large bowl (3 1/4 pounds) and the pounds of clay needed to make the

small bowl (11/2 pounds).

Correct response. The student accurately calculated the difference between the pounds of clay needed to
make the large bowl and the small bowl.

C O Incorrect response. The response does not reflect an accurate calculation of the difference between the
pounds of clay needed to make the large bowl (3 1/4 pounds) and the pounds of clay needed to make the
small bowl (11/2 pounds).

pace 1 Understanding
Pr@ficiency i



